https://lwww.leads4pass.com/300-535.html

L Qads 4 PQSS 2024 Latest leads4pass 300-535 PDF and VCE dumps Download

300-535%6As

Automating and Programming Cisco Service Provider Solutions
(SPAUTO)

Pass Cisco 300-535 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/300-535.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

300-535 PDF Dumps | 300-535 VCE Dumps | 300-535 Braindumps 1/4


https://www.leads4pass.com/300-535.html
https://www.leads4pass.com/300-535.html
https://www.leads4pass.com/300-535.html

https://lwww.leads4pass.com/300-535.html
2024 Latest leads4pass 300-535 PDF and VCE dumps Download

QUESTION 1

What are two advantages of using Python virtual environments? (Choose two.)

A. They allow for multiple Python projects to use different versions of the same dependency without conflict.
B. They allow multiple Python applications to share virtual memory between subprocesses.

C. They allow for isolated environments where each can use a different version of Python.

D. They allow for all Python projects to utilize the same set of shared dependencies.

E. They allow for multiple virtual machines to share a single Python environment.

Correct Answer: AC

QUESTION 2

What is an interior YANG data node that exists in at most one instance in the data tree and has no value?
A. listing node

B. tree node

C. container node

D. leaf node

Correct Answer: C

QUESTION 3

Which two operations must be used to allow a network engineer to use NETCONF to configure and manage networking
devices? (Choose two.)

A.

B.

Correct Answer: AC

QUESTION 4
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<edit-config xmlns= “urn:ietf:params:xml:ns:netconf:base:1.0">
<target>
<candidate/>
</target>
<corfig>
<host-names xmlns= “http://cisco.com/ns/yang/Cisco-I0S-XR-shellutil-cfg”>
<host-name>I0S-XR-5JC-19</hocst-name>
</host-namas>
</config>
</edit-config>

Refer to the exhibit. After this operation, what else is needed to change the hostname of the router to I0S-XR-SJC-19?
A.
B.
C.
D.

Correct Answer: D

QUESTION 5

<?xml version= “1.0" encoding= “UTF-8" ?>
<employees>
<employee>
<id>1<lid>
<firstName>Jane</firstName>
<firstName>Doe</lastName>
<lemployee>
<employee>
<id>2<lid>
<firstName>Tim</firstName>
<lastName>Public</lastName>
</lemployee>
<employee>
<id>3<lid>
<firstName>John<ffirstName
<lastName>Doe</latName>
<femployee>
<femployees>
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Refer to the exhibit. Using the provided XML snippet, which Xpath expression prints "Jane"?
A. llemployee[1]/firstName/value()

B. /lemployee[0]/firstName/value()

C. llemployee[1]/firstName/text()

D. /lemployee[0]/firstName/text()

Correct Answer: D
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